18 (2B (3B |4A |58 |68 |78 |88 |98 [108 |118 |128 (%t
g BBkl (FIRR) 1 1 2
BB BRI (RRT) 1 1 1 1 4
B-RE |BEMBRERIN B 0
BRI GRT) 0
RARERBRMT (B, TARESERHHEET) 51 2 3] 1| 2 1f 1| 3 2 4 3 2 29
TR B ARAE B R AT 1 1 2 1 1] 1 2 2 11
AR ERBRIMT ERT) 3 2 1 1 3 2 12
BEA IR (B 2 2 2 1 7
BEEHIRIM FRT) 0
BEAEIBRMT (OR Y b) 9| 9| 8| 6| 3 13| 10/ 9| 6/ 10/ 10 9 102
B E 2 kR (BARE) 2 1l 2| 3 2 2 2 1 15
BRE SRR EERT) 2 1 1 1 5
BERAAT (BIRR) 0
BERAAMTGERT) 1 1
BERRAM(AR Y ) 1 1
BB 4% 0
REFERE 1 2| 2| 2 3 1 2 13
R B AT 1 2| 2| 1| 3] 4 1 4 4 0 22
RER T BB 16| 17| 12| 21| 17| 13| 22| 19| 20| 30| 29| 25 241
BRAERE |EHREBE 1 1
IEREET K+ —BHE 1 1
2 0
FEB Rt Rt (BARE) 0
Rt ERT) 0
EERLeE (ARy k) 1 i 1 1f 1} 1| 3] 2 1 1 13
BEBEER IR 1 1
RSB AT 0
RIRERRERIERE IR (TUR-BT) 71 71 10| 7| 9| 13| 5| 5| 12| 17 6| 14 112
REEE PRE B & AT 1 2 1 1 5
[EIf5 (f5R) EE SR 1 1 1 1 1 1 1 7
AR S % 1 1
BIAZAR BIALRRETERAT (BIRR) 0
BIIZER SRR (BRT) 0
BIMLRRERERM (AR b) 2l 1 2| 2| 5] 1 3 1 3 3 23
BIIZBRAEIR 6| 11| 11| 9| 11| 15| 8| 18| 14| 19| 15| 10 147
RIRERIBIAREIBRHT (TUR-P) 1 2 1 2 4 1 11
REXT > b 0
fe% - RE |RREREBFH 1 1 1] 1 4
BEFH 1 1 2
FRIEF AT 0
PRIE TR NAR 5 F AT 1 1 1 3
K5 e LA B L A 1 1 1 1 1 5
BIERE Y > SEERE 0
RIS RN (BREW) 1 1 2
FE R B AR F 1 0
FeTe/ K iEIR AT 2 1 1 4
FERIRER TN T B K R EE AT 1 1 2 1 5
REESER RIRERRERAM (TUL) 31 2| 3] 3] 1 4 9 6 9 7 6 4 57
R PR E RIS B i 1 2! 1] 1 1 1 3 10
Z Dt BRT o ER(F77 b EREN, BE PDATHEED) 51 8] 9f 7| 5| 5| 12 3| 3 5 3] 13 78
HIERERES R AT (FAR) 1 1 1 1 4
HIEEREERHNT GEET) 1 1 2
Z 0t 31 1] 1l 2| 2| 1 4 4 5 2 3 28




